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Sticky Note

this is a good criticism which could be developed



Sticky Note

a lin to the debate would be useful here








Sticky Note

appears to have run out of time but does a reasonable job even so. The essay does of course lack development of other factors






















Section C
Choose one from the following options.

Option 1 Education

Compulsory question

4. (a) Using sociological evidence and examples, explain how schools prepare young people
for the workplace. [15]

Either,
(b) Evaluate the view that education offers all children equal opportunities to succeed. [35]
Or,

(c) Assess the impact of cultural factors on attainment in education. [35]
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Option 2 Media

5.

(a) Using sociological evidence and examples, explain how age is represented in
the media. [15]

There should be several points supported by evidence. There should be an
explanation of each point in relation to the focus of the question. For band 3 AO1
points should have supporting evidence for at least two of these points. For Band 4,
a clear explanation of each point should be made. For each point supporting
evidence should be present. There should be a clear focus on the question in the
points explained.

Indicative content: most examples are likely to focus on youth and old age; there is
likely to be less research based evidence in these answers and more examples

—  Youth and deviance; Cohen

— Thornton and drug taking

— Moral panics related to youth

— Over reporting of negative stories in the news

— Old age as decline

— Under representation of old people in the media; Signorelli

— Stereotypical representations

— Change in the representation of old age: Dail, Featherstone and Hepworth
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Band AO1 AO2
elements 1a & 1b element 1a
7-9 marks 6 marks
Answers demonstrate detailed Answers demonstrate a detailed
4 knowledge and understanding of ability to select, apply and interpret
sociological theories/concepts/ appropriate sociological
evidence relating to the context of theories/concepts/evidence in the
the debate/question context of the debate/question
5-6 marks 4-5 marks
Answers demonstrate some Answers demonstrate some ability to
3 knowledge and understanding of select, apply and interpret
sociological theories/concepts/ appropriate sociological
evidence relating to the context of theories/concepts/evidence in the
the debate/question context of the debate/question
3-4 marks 2-3 marks
Answers demonstrate basic Answers demonstrate a basic ability
2 knowledge and understanding of to select, apply and interpret
sociological theories/concepts/ appropriate sociological
evidence relating to the context of theories/concepts/evidence in the
the debate/question context of the debate/question.
1-2 marks 1 marks
Answers demonstrate limited Answers demonstrate limited ability
1 knowledge and understanding of to select and/or interpret and/or
sociological theories/concepts/ apply sociological
evidence relating to the context of theories/concepts/evidence in the
the debate/question context of the debate/question.
0 marks 0 marks
NRSP NRSP

© WJEC CBAC Ltd.
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(b)

Evaluate sociological theories of the ownership and control of the media. [35]

Answers will make judgements of the sociological concept, theory controversy or
sociological debate. The answer will focus on the debate in the question. Credit will
be given to the effective use of supporting sociological evidence/theories and

con
will

cepts. Where answers demonstrate all abilities to the highest standard then they
be consistent with Band 4. However, answers demonstrating knowledge but

fewer skills of assessment, judgement and evaluation may achieve Band 4 for AO1

but

Indi

© WJEC CBAC Ltd.

lower bands for AO2 and AO3.

cative content

The emphasis should be on sociological views of media control and content, for

example, traditional and neo-Marxist views of the ownership and control of the

media such as:

agenda setting, ideology, cultural hegemony, the power of the media,

ownership with relevant examples

Marxist ideas about ideology (Miliband, Tunstall and Palmer, Curran, Trowler)

Cultural hegemony and the work of the Glasgow University Media Group for

example, agenda setting. Examples of news reporting based on their research

Pluralist: Whale, public service broadcasting, choice and the role of the internet in

news reporting

Postmodernist ideas such as Levene

Issues linked to ownership and control relevant to the debate for example:

— an outline of trends in the ownership of the media concentration and the

— work of Ben Bagdikian with examples to illustrate newspaper

— ownership such as “press barons” and corporate business

— horizontal integration or cross media ownership vertical integration to
maximise profits convergence such as mobile phone providers working with
broadband suppliers

— diversification with relevant examples including, synergy and branding.

Any other relevant point.
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Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3
10-12 marks 9-11 marks 10-12 marks
Answers demonstrate Answers demonstrate Answers demonstrate
detailed knowledge and detailed, accurate and detailed, well organised
understanding of relevant selection of and logical arguments.

4 sociological theories/ appropriate sociological Logical judgements and
concepts/evidence theories/concepts/ conclusions will be offered
relating to the context of evidence. These are based on explicit
the debate/ question applied and interpreted in | evaluation of the relevant

the context of the debate/ | theories/concepts/
question evidence examined
7-9 marks 6-8 marks 7-9 marks
Answers demonstrate Answers demonstrate Answers demonstrate
some knowledge and some accurate and some, well organised and
understanding of relevant selection of logical arguments.

3 sociological theories/ appropriate sociological Judgements and
concepts/evidence theories/ concepts/ conclusions offered will
relating to the context of evidence, some of which show some evaluation of
the debate/ question are applied and the relevant

interpreted in the context | theories/concepts/
of the debate/question evidence examined
4-6 marks 3-5 marks 4-6 marks
Answers demonstrate Answers demonstrate a Answers demonstrate
basic knowledge and basic ability to select, basic arguments.

2 understanding of apply and interpret Judgements and
sociological theories/ appropriate sociological conclusions offered will
concepts/evidence theories/ concepts/ show basic evaluation of
relating to the context of evidence in the context of | the theories/concepts/
the debate/ question the debate/ question evidence examined

1-3 marks 1-2 marks 1-3 marks
Answers demonstrate Answers demonstrate Answers demonstrate
limited knowledge and limited ability to select limited argument. Any

1 understanding of and/or interpret and/or judgements and
sociological theories/ apply sociological conclusions offered will
concepts/evidence theories/ concepts/ show limited evaluation of
relating to the context of evidence in the context of | any theories/concepts/
the debate/ question the debate/ question evidence examined

0 marks 0 marks 0 marks
NRSP NRSP NRSP

© WJEC CBAC Ltd.
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(c) Assess the view that violence in the media can lead to increased violence in
society. [35]

Answers will make judgements of the sociological concept, theory controversy or
sociological debate. The answer will focus on the debate in the question. Credit will
be given to the effective use of supporting sociological evidence/theories and
concepts. Where answers demonstrate all abilities to the highest standard then they
will be consistent with Band 4. However, answers demonstrating knowledge but
fewer skills of assessment, judgement and evaluation may achieve Band 4 for AO1
but lower bands for AO2 and AO3.

Indicative content

There should be clear identification of sociological explanations sociological theories
of the effects of the media on audiences for example. The theories examined should
be evaluated using evidence and examples. There will be a greater focus on theories
such as Hypodermic Syringe
— hypodermic syringe model.
— cultural effects model, (Curran, GUMG and Greg Philo.)
— uses and gratification model, (Blumler and McQuail, Lull, Watson)
— reception analysis model, (Morley)
— two-step flow model, (Katz and Lazarsfeld.)
— Examples or evidence may be outlined to add detail such as:
— Bandura,
— Columbine High School massacre,
— the James Bulger murder,
— Michael Ryan,
— copycat violence,
— McCabe and Martin,
— News (Oklahoma bombings)
— Terrorist activity and Islamophobia
- Do

Moral panics, deviance amplification

Alternative theories and ideas used to challenge the notion that violence in the media
leads to violence in society such as:

Interpretive model

— Fiske

— Buckingham

— Any other relevant point.
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Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3
10-12 marks 9-11 marks 10-12 marks
Answers demonstrate Answers demonstrate Answers demonstrate
detailed knowledge and accurate and relevant detailed, well organised
understanding of selection of appropriate and logical arguments.

4 sociological theories/ sociological theories/ Logical judgements and
concepts/evidence concepts/evidence. conclusions will be
relating to the context of These are applied and offered based on explicit
the debate/question interpreted in the context | evaluation of the relevant

of the debate/question theories/ concepts/
evidence examined
7-9 marks 6-8 marks 7-9 marks
Answers demonstrate Answers demonstrate Answers demonstrate
some knowledge and some accurate and some, well organised and
understanding of relevant selection of logical arguments.

3 sociological theories/ appropriate sociological Judgements and
concepts/evidence theories/concepts/ conclusions offered will
relating to the context of evidence, some of which | show some evaluation of
the debate/question are applied and the relevant

interpreted in the context | theories/concepts/
of the debate/question evidence examined
4-6 marks 3-5 marks 4-6 marks
Answers demonstrate Answers demonstrate a Answers demonstrate
basic knowledge and basic ability to select, basic arguments.

2 understanding of apply and interpret Judgements and
sociological theories/ appropriate sociological conclusions offered will
concepts/evidence theories/concepts/ show basic evaluation of
relating to the context of evidence in the context of | the theories/concepts/
the debate/question the debate/question evidence examined

1-3 marks 1-2 marks 1-3 marks
Answers demonstrate Answers demonstrate Answers demonstrate
limited knowledge and limited ability to select limited argument. Any

1 understanding of and/or interpret and/ or judgements and
sociological theories/ apply sociological conclusions offered will
concepts/evidence theories/concepts/ show limited evaluation of
relating to the context of evidence in the context of | any theories/concepts/
the debate/question the debate/question evidence examined

0 marks 0 marks 0 marks
NRSP NRSP NRSP

© WJEC CBAC Ltd.
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Section C

Choose one from the following options.

5. (a)
Either,

(b)
Or,

(c)

Using sociological evidence and examples, explain how age is represented in the
media. [15]

Evaluate sociological theories of the ownership and control of the media. [35]

Assess the view that violence in the media can lead to increased violence in society.[35]


























































































































































































































































Write the two digit question
number inside the boxes next
to the first line of your answer

Answer

1 Shekos 12
il Lﬁ SD'-:% 2

‘::wk’b d!'f‘
o Co v

Poley Gt
SoL oS anu
Po G

1 oy br
4 S ey 00
o Yo Ga o OB
_ C)x.i?'aﬁf) Haan
1 avey ~ e
4 W e

1 ol Oty
4 Lptn NS
1 W o ol

\L‘U-\p\ﬂ h\_—j

e Posihen  ef Soeore  or Swpmelly
for Lox Pl o fUon 6F sk Sgd

| \wos Poeer o is Moa  romlred M 3iveac
ol lov  Sland. flus s e~ oy Na wddde

d Clss b A Wgtuar Sladnyy e fe ,.___:,,_-{(,‘Lj
4 s>, s s San in ke il o3 (v

Sl b A “S e (Phed v Mo Stens' (ot Sheus
tay  Skidus  Con by Jafiver oy e Fosibe af

Dore st o O Segiar A gtk 60

lomgd o W Ppcests e secasan
Sulla o3 Ci,‘___.,_\__f:smq . Wy 5
Gowisy  Sotiaicse M COwldin

| Gpugn (apedoasen A pmasOloXg CarndhSane N s
Mesy  plagr  Punis 655G plu\oVin - Qela

(Y o Lum ﬂ{ur o )
doll G &
Aswe & & gd-‘-{;ﬁ ha.@
Moy Iregh  ec hhgs WG
Clulitn, 2 (e Gr W (D,
L.CCE I gy L_J,Lmﬂf\j Lo g/
O Vi w9y G ! (or Hole  Swer

ko lhe. 052l DJ‘&)\O:j ab>  Leryhaly
W Sout l’l\fﬁ \5 pAn™ S

o (arodibpin 0> O Jows 9@l (v gun O

W MRt el A WA sl

2 I
8702

RS W N TN Egeyw






Write the two digit question
number inside the boxes next Answer
to the first line of your answer

Leave
blank

slss , Ay (5 A Sen o il Protess oF
bwlasoh a6 Doure bey My aPR D ko
L s @ur Ao Socuage, WS e b G
& k. Oﬂllb wodd  agree. ok WS S
She.  Sescasvy  (lew-  ppanPolahtn ond  Cuak samnin
o€ hows  yoow CIRN  oe MRl Secalile
e CCaclvy  Schoo\ GeC Ut Ll an paadla
L& Poven Cocaldamvn . ?&Mwialrj L A Qe
it hs o5 Mipdae  alde  Sess Gk ko

H.Q,u}:, of  peldan (OUWve b eos gl are
(’rh“wrh Soc'alsgh b HAovr e b, (o ™ Znlyy,
b Moy  Lylrie Wew  Quis gre (aked oF (0 He r
(Depns M v dage o Wle g ger A6 ge ©JbSde

(oS 0t glSo (eraps (amedd  Nodosn ha
ﬁ’ﬂmﬁi 0f coctatesin  oF Cofycur  heha—r o
T Sk o GG el pewy) Rare

heg AN WGPy Qulr o0 s e fran wmw s

o T (ke |IAT roGs  ach Steuny Cirga
I AT LUV B\l_-:) Gy ealin one” |

ey W aSShl\pie A Save AR ond vodved
G Ore  olso Wl o Cofa Ua eatbey  bllaver,
(Cdoocason Alsa  alos  (Redhen Ly @ xPloc  av
A loem B pun D Soceks o3 Mo ge
Who  Voll et  omd geb b~ goajes Genll,
il Ve W liaE MG U St S b
l\w.'g_o, a  unesa dorer  agev, g GUALS Spn  Offanusiacs
Das  edo uuan /s Gur blamsiow-  Socakses Rape
b (g e W N Spceiy Dacksn Lo
Gooroe L WS @ ke Sidied  Gas o (ualodS
LiNOn  Shoger  Ouldan  (ayvy  gach ohe~ o
lwrn WC (ples N DOy o8 ey ok u?

_\4’*}‘ (o g Vs oy olsn  Mewn J::;. LS e

MRk Saeel b 85 ik Shs i Lhld
E,n(-’J el ﬂf'hﬂf - Lx@' Lgﬁz'tﬂw w YN I’L’Ln.!j, U{, Shove A

3 A
8703





Write the two digit question Loaws
number inside the boxes next Answer blank
to the first line of your answer

b buer (Dl o Copeh.  AnOiewars  wasold ggo »
wibh WS e gy \gae Her gaei (@ e L
| pwW  fm ludk oW o are  FGosd on .
d hoonn & usgn Shewn be Lol Stde !

=

_. {f?[gg o (et Mo e Qocss of n
1 Roearsarsn _ (pupnuders . hs T bpdase @Guws |

L O"-‘W (2 led”  Oprdar  rptas Lar b B
JQwrs ey ey evgh  absvve o Loy 8
| Mmomeda frue o~ Loy  G4e b orSPie a

Lot feam (e aisn (e har  Sen o b
(s heen O the  oN@G boiRen @i L
1 oerad@s  Sex e gy Mes ge Secabded |
1w ey n e FrughWengh  dendor- My G~ _
4 N~ Lo, J'ﬁuﬁ \ettadiomna—  gpoh el cdamem .
d hiny oo lusest@, This 1 Shan a3 o sun I8
1 il eFen |poak ke [Ca Al o Wi fales caer |
(. 1™ o~ G Nae Scene M g <o -
oy Py b PrSony Ggetas o The as L
B I I 77, 5 Phay Aareny  Aaas, ot Lﬁu\ﬂbﬂaok L
Rie Pl chelgmen N Fvenhvs  hagened oW 1=
A 50 fwww e ue Wkl Wt laostus |
1 & patd e Mt hos  Shewsn (D6 tudds |
Jho %o Secalse yaes  [fulln e B [
[l N Ptk ertrimatoes- Cncpvenalesy s &
d gopme i ey e hGe ke B2 L
A olaiy e MWW Ak fehes oy e Ch i
1 Skl w Qe poaks ol gy A O\ B
B 2 S Spicksed b e
il e L w e oganit Quwlory.

; g










Write the two digit question

number inside the boxes next Answer
to the first line of your answer
o=}

droes  cre learned #Hhiowh Fht  PrOCESS
4 OF Socialisution L‘;r:; ) nd j—r;m':-;,.!__u_,;.. The@
dcle  Hhs  Fhough  mangpulahion  woner<
dporents  woulel tecich os  are permsS
Joinel wAlues howee o owr EJQ.ﬂt:-J"-EA"
Jand  starovd. Fherefor el 9”;5 role
AMmecle]  woouidd be haer ynotber, S Lhx
AMicth er AT INnclualedl 1N on Jop  eartunct
dthe B 3, covrenne ccee, casnier than
_'r'r\__(’._:j C;jl._[_"- e e U B S T | s 1O
| EAPE Ner (o€ and will  glfous op
_Ck;n.n'b He Same. Job FPoley cre
Jlecirnr  Fhoush  pacrncpuarien  ancd
JCewicisanan  Fransmatec  fhooyh  Famoly

dPolesy  awe  ciso  Sociclised
Jmedion . Theyy  co  Has
P 5'I:jf WNGE ,  Lonere +Hho
-] pf-l:l‘.‘awtl% C\%I“EE’_.".E ol T2
Jpresenteg. ANc  coply  cer

Juorere  tha  woootd Foll

bL,‘:.I

WACAS S

H’LC.J L2 I ¢ l“\Q -

hgperdermice
croachenct

the Informennon

erooiour

O LY ur\d

4 copy  Chawr yvorwe encelel  andd WD
Joodl  oecorme  tharre fede. For edomple
4% Sorreones ok mod@) woas bevunce.
4 T L) SPSPYT oclope thaaa o
Jroe. thougnh  CopPuy car DRVMOWIOUT
qQDLL?.,S gaye Fronsmuortec) J‘|f\c::n.~,m51'*}
Y hnj_piarde.r‘mia IQrunoe e C‘““"f‘xﬂc‘@‘%
Joeroviour

1 T

714






Write the two digit question

number inside the boxes next Answer blank

to the first line of your answer

Coucaman  transmMmurs are. oles  Fnouyh
cyrereny Ccunoumns. for  gxample, hiclden

Jaurriumm 15 unuonsren  rued,  SroRs
Jtetierers vawent  Ftowoany  +heere Srudent
Jour  Yhe  Stucleny's Pty P ON Lk .

4 For exarnpie M\*r.% + preJoclice ar
Jraser. formal  concum 15 Lolhere-  vorutten|
Jrules fof A CarvpPLL £ tore Yhouww Yo

clo Ty Hrnes Faoed ., Owrall ectucoHon
Fransmurs feled  Fhoush  hiclden  ewncl
Formod CAUNT I .

WENCPicace OB O Cranamets. roies
t":-m_‘_,.m_:%h Coxt=s Cownmeeeyyny Cul\tlt, TS
(S e e pecq em) (:I'r::ﬁf..--:i | M e, o, O g
DMe wooreplaadces all. nmasve  Thne
Scoame Yoormm . ancl vazues  pased
Cary Ther SO0 rove . wﬂ c L Wwoeee
LOWe. ConSensos, ror Cx arnpie
teccrer oo poluere. Yo one cnothoer
and  Fhaayee  Stuclenys becavose of
CASAE  Jop Yo, ™S coan oNso bhe
Cagyy oy hidden  auricasms . owera)
WO Eplavce. SocealiSes e YOWe N
TNoOLaN CArMTeen cotue

s i






Write the two digit question
number inside the boxes next Answer
to the first line of your answer

!

-

(o §

—‘

=

Datus 13 cdefkunecot AS NG Muey
POwer kjc_i!_- NCwwve e f‘_n_gnik‘\,a i, Gl WL g

Al cdocd . O wanere Yo, Sroanc)

LoLtwWn  tho ‘r"\uEn.AfE‘JﬁB, Oorey Y‘\cui‘%&m%@
] Proerayney, onNasmiass, miclele alasy,
niglney Aans, Lompertoont. AlL clpefreny
Clfperent  chnorfacrenshnd

Stotrus . s

FOr Exampie  bouraeoise.  Ue §Fune.

art. torthex forrhermoce, Staros 13
Prowviac) lg_j Fooo LOCALy,  eLTiner  cam

CADOruUe0) SUTCIESS (e e Sorveome. D
DL Lo Chast . SraxcoS . For esxample

FQr f@%&\ Famdy - Or o Srarus  HFhalr

someone.  has achieves) oy thems el

for @ampie  dtartung @ compe

N tho o Hieorong,

4 Overall, Starwd B tohere B Yoo Sck

-

| R T |

16

M

g8











I

Write the wo digit questior
number inside the boxes next Answer

to the first line of your answer

Qa

—

dbirtn fortnsi ance o davghwr o stn they have |

Statu§ ¢S the wrmvused, in CUitwe§ (nanydealy hauve "
Mmae thar one role thweir 1LHveS AN Skearvs ¥
aAn be wscribed thcur means gD (0 OCo Ot beh L

Qupferent Jiearie  (n the retgy ¢hoy Carry In Rience |
1O tne itk SUME [cley Ve~ @y Hthedcn Ih +ho FamiLef
My hu mae tmputans oluh€s than Hr davgnlor |
QAN Cther bxamfiw 0F how [fclds Qre ajenpecy L.
Catel be throgh the meneiChy thu 1S gen high -
JHOAALS . Moacaer, StAMS dAdn ke atneane! prexampe |
[Qwyer (r dotCler oNChnoving tho Srarcd  Herefee |
cllibcads gy rees 035 He docier ferlnffonee has 6 !
ity jo bt respectahio "

trroyponr -

Ohe agent of Socansancn 1S the pnmary secanianen cf |
fOmity the reeS adavgher [earps from the mether L
Ly inpucodedd (N #he famityy AS (he dowghue ! May =
[UCk P e the Mmemer &u arce moc! Mes® Pihqps L
the mether dees  certian reds inme hewse and ehe L
davgner (takes ajfler thet cor yugr ¢hecaer?nG nporecy |
AMUNtr MUy be the Haern as e why thodghor |

lOCkS W andiak€s e mothor enine faml ey L
Ay A Lot Moctel . In rerence to thetlem Pese reigs
carry €xpe Llatiens Of Denavicur. ALPeLtanins (s }_

Onlther Wway femthd famity bt [0 art learnr L
bIh  he ey ample  of thae Chilctien Gy maybe expe cleol |
toe Qo ceran Qpoes 10 Ho heode thorefere  the proeess )
OF rocoquusdton wen thefamivy Gnd learning !
thow mws hay been athwpeol . L
Ancther agery of Scudusanrcne s che gduvcaner |
JySilem - Sanckens e placed tn Zelvcechen  1f funcrwaling
(5 Nk on /P o QHencence (oht AUeQuade, th ) Moy

3 (LA

Leave
blank





Write the two digit question
number inside the boxes next Answer
to the first line of your answer

theére [cre mean thar SancHens Such as diéknnen is ptaeed ,
howerer Mhwrr thére Ore polittve SQNClzent JSuchH Gr
he rcle OF “Head Quri” - fhis gt tndlivi alv all avi Lwblo
lesten  OGndwalphes  InChividuvat s the valwg  Of He rald
and eennally paes o-er others. M acoern e
el caheh SYysiem hor uniranchH  Such Q) (muding
Kacners Inrégards b0 carrying o reusia) dnd
LUNHAHNG tha £achet (T OF ffztfmry KLr peers
elmed ke bewng 0 "
Ancther QAgenr O JOLOULISANCH  ta Hhe
W¥¥a woek place :nme Precess OF ledrning the
S0 craues ared G haviag fees - Themanager cr apen scr
may atr as Q [o morled o the employees a-hich
then tnphe pv e (dld Getuodly ke lakén asr bythe
employee beceming e manager and  takingthat
e “having "puer ocr ornes” Mataer, the wakpldce
have fanchonse unen HESCh 1INy cene ¢ o 7e ety F
Lo the beir clanaorel 1+ may Hean Q warmngr
QUSCLPINe intnewndr scepar o e ras el an Chont
bt ng taken PILCe in the wokface Means HYJocal sahon
an rowu  Toles aue Ledrnt -

4 LA










Write the two digit question
number inside the boxes next Answer
to the first line of your answer

-\-1-._.—-

#t‘un Ca. ootycosn e ean Lok d ek, ,Cﬁ-u!ﬂ_n = Yhetae
- 1;.3).44“ =2 tm_pn._pm_ =N L}-,l.. Chouvs Oy /-a O 5 ‘;}?
-‘n«.rdu& = Y S dn.a..-.%nn:f/ ;’br A0 i 5 CSoun v
—'oe ocCiaewredd . _;r}r._-,_t/h?(

- f‘::m-a. ety = o Gulrod. ok lhaonand o - WSS

- T e Cunciestsison s PEEsU YT s ety . B Seung s (ouin
Hoa cncAn.d ‘= on ledlccassi. foeto doidea . Gow X WD
HoAea Chemet®s Soeieas CMALSS miea 1 Oeon woke el Alea St
K ““‘-*’"3 B G S t:'.llu.ta'ﬁ.‘:t__,r R Y .-E)mﬂ‘:. OOy
Hdedas e olpasicest v et o, Lo e lerence i tlal
kN, e ol olhisuye oo \-LLjM =y ben -\-Mﬁc:\.;'.tbu\. *‘I‘.‘an.:n»..l.:n:..'[*--.llk-rL_l_:_q'-‘I
o  t veoaClear e e, St ey TR, s e o A
—Has Yea Gmbagends StosEn,. Sefolion.  oaosooovs T W AT Crecd
et Cwnen  undoadaieaaBbo  Leaidin c. PoifA oo S T W O
- axaorelie o ROsenk 3 extelied o el o lealsr Clednd

_Im Cng e NS BB Caaeck e e b Erung_uf_.-\ Lt STt ey .

¥ G Y Thao  PV=len af JStioitsopmnfr ol oo
dowoidren v DONOAN, Ualwes, ound oamunbe o swiMa Qo™ <)
ol e benCdonn . SO e oy . i ot D Gl haesaresy Hﬂ...l‘v\.f.j'n

~ prteminy SOtlouiroinln G SeconfCawny SSciadiasantn.

- Ay exon-Ble of s cogantoy O Peoneony  SeclOuU S YD N L
] At na kﬁ“"‘-—"“-‘kj A Seal Reie Atrlts. Wik o pretehes OF
PG G RO At Doscodils oo Aoyt Feans
_L‘::.r_r_ Gm . e Peocale e tdnn "gﬁm;_uj = ) \_rjn...
Jivriraxdon. Tl Ao Ve sae. o exatagple, o
i ey, Se e ‘ear paphclesrs \c.ﬂ:-_w.a.-_..r-.}_‘ ol o Wodagy ound
—Hm weasEMe. bar WeBieo S N ol M teoik alher oo
2=, e Tegougia s tea roe. ©f < fesvoe Lo
docrtr Clealdaes~ WS tyouannaitted ,

- Z:\.;E; e/ fEbters W o ‘wrdldAdoodn PENUASD Ln o tng.

’ i






Write the two digit question

number

inside the boxes next Answer

to the first line of your answer

-

-

-

AutShelior” Jor Do S SO N Gl R Tea  ecaocodt e,

S Steea. QRufer MA. Secordouny Seuialaoidn - A3 e Ltton
Sares roven guea badiuhciuols  Pawsl OURS  cAtb-ass
SeoCap,. oun o o lears "r\.n.x..a.u\ ey el vy o WEEEESRar .
Poat. L6 o Pupty Cealergss o fewllean  osickani—
Mooy S Sanconcines Salin s derenhOifg . ogedd wowasanuD
e \eas  dOSG RN N \ae i red et e i

s ecseans of Soccobonny thea QU sl e bea
L e o= S . v W o ¥+ U SR S P S T~ W
PUPLLS, ewae - aeca, pro ARy Slrann W Da cBashiond
ot vEoun Bl BSUaniavoefS mve ot ¢ Shudsnd

Thea Sadoo,. TS canefreas Usoses VYen m—ma 5:.1de11
Seeierre SESEAG AL SO Tﬁ?&.mww AP S She o

—FErtrady (eatonhnen | TV Avgan K Qatal” papds  ound

UepvBcren, i TU Showa) @tk as o e apochal ¥ rliidaap,
Tor exooee tn The Ty socmpmmm———_ Senn | Tlea
Suwupsana', e (eoeas  9Pans Tur e Looie  Paskee ualal
e MaDMeas StBan oA konra. Tenuo-cee Tlharsunin Haa
o tEAnS of Wk vadadias el e o Thae  Vods breochudding

B leorak.

"m Conn Al e yolveas g vEOS D Gy € g-n._...ﬁru.— M\.I.ba\.

e S oy,

: T











EDUQAS A LEVEL SOCIOLOGY - COMPONENT 1
SOCIALISATION AND CULTURE

SUMMER 2019 MARK SCHEME

Section A
Compulsory question
Read the item and answer the following questions.

In every culture, individuals have more than one role in their lives. These roles carry
expectations of behaviour. Some roles give individuals power over others such as work roles
or the role of parent or teacher. Just as we all have different roles each of these roles has a
status. Some roles are high status and some are not. We learn what is expected of us in the
various roles that we play through the process of socialisation.

1. (a) With reference to the item and sociological knowledge, explain the meaning
of the term status. [5]

AO1 band 3 answers will contain accurate knowledge which will include a definition
of the term.

AO2 band 3 answers should demonstrate sound understanding through examples
including references to the item.

Indicative content

o Definition of the term status such as the way that others see us, our social
position, our social standing, the degree of influence and power that we might
have. The connection between status and roles and how we all have more than
one status are all accurate and valid points.

o Examples to demonstrate understanding drawn from wider knowledge and from
the item.
The item is used to demonstrate understanding.

e Any other relevant point.
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Band AO1 AO2
elements 1a & 1b element 1a
3 marks 2 marks
Answers demonstrate detailed Answers demonstrate accurate and
knowledge and understanding of relevant selection of appropriate
sociological theories/concepts/ sociological theories/concepts/
3 evidence relating to the context of evidence. These are applied and
the debate/question. interpreted in the context of the
debate/question.
Reference will be made to the item
to show the ability to select
appropriate examples.
2 marks 1 mark
Answers demonstrate some Answers demonstrate some ability
2 knowledge and understanding of to select, apply and interpret
sociological theories/concepts/ appropriate sociological theories/
evidence relating to the context of concepts/evidence in the context of
the debate/question. the debate/question.
1 mark
Answers demonstrate basic
1 knowledge and understanding of
sociological theories/concepts/
evidence relating to the context of
the debate/question.
0 marks 0 marks
NRSP NRSP
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(b) Using the item and sociological knowledge, explain how roles are learned
through the process of socialisation. [15]

The focus of the answer should be on how we learn roles through the process of
socialisation.

For band 4 in AO1 and AO2, there should be accurate use of key terminology
illustrating the process of socialisation. In AO1 band 4 answers there should be
appropriate examples used to demonstrate understanding. Where the item is used
effectively in answers this will be consistent with band 4 AO2 marks.

Indicative content

— Answers should examine how more than one agent of socialisation teach social
roles.

— Terms such as sanctions, role model, imitation should be expected.

— There should be use of specific concepts linked to agencies such as family,
education and work, media.

— There should be appropriate selection and use of concepts such as norms,
values, specific roles and expected behaviour.

— There should be specific examples explicitly linked to how roles are learned.

— The item should be used to illustrate understanding.
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Band AO1 AO2
elements 1a & 1b element 1a
7-9 marks 6 marks
Answers demonstrate detailed Answers demonstrate a detailed
knowledge and understanding of ability to select, apply and interpret
sociological theories/concepts/ appropriate sociological theories/
4 evidence relating to the context of concepts/evidence in the context of
the debate/question. the debate/question.
There will be appropriate use made
of the item to demonstrate
understanding.
5-6 marks 4-5 marks
Answers demonstrate some Answers demonstrate some ability
knowledge and understanding of to select, apply and interpret
sociological theories/concepts/ appropriate sociological theories/
3 evidence relating to the context of concepts/evidence in the context of
the debate/question. the debate/question.
Some reference will be made to the
item.
3-4 marks 2-3 marks
Answers demonstrate basic Answers demonstrate a basic ability
2 knowledge and understanding of to select, apply and interpret
sociological theories/concepts/ appropriate sociological theories/
evidence relating to the context of concepts/evidence in the context of
the debate/question. the debate/question.
1-2 marks 1 mark
Answers demonstrate limited Answers demonstrate limited ability
1 knowledge and understanding of to select and/or interpret and/or
sociological theories/concepts/ apply sociological theories/
evidence relating to the context of concepts/evidence in the context of
the debate/question. the debate/question
0 marks 0 marks
NRSP NRSP
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There is no clear definition of the term













Sticky Note



Sticky Note

There is some use of key concepts though not applied well. Some repetition. Some irrelevant material and weak examples to show understanding
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Sticky Note

Agents clearly identified. Processes identified but not always focused on how roles are learned
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good reference to agents and processes but examples linked to how roles are learned lacked detail










Answer Section A, one option from Section B and one option from Section C.
Section A
Compulsory question
Read the item and answer the following questions.
In every culture, individuals have more than one role in their lives. These roles carry expectations
of behaviour. Some roles give individuals power over others such as work roles or the role of parent
or teacher. Just as we all have different roles each of these roles has a status. Some roles are high

status and some are not. We learn what is expected of us in the various roles that we play through
the process of socialisation.

1. (@) With reference to the item and sociological knowledge, explain the meaning of the term
status. [5]

(b) Using the item and sociological knowledge, explain how roles are learned through the
process of socialisation. [15]
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Section B

Families and Households

2. (a)

Explain the reasons for changes in marriage rates in the contemporary UK.
[15]

Expect a range of reasons supported by evidence with explanations of their influence
on the reasons for changes in marriage rates in the UK.

There should be several points supported by evidence. There should be an

exp

lanation of how each point demonstrates the reasons for the changes in marriage

rates. For band 4, AO1 points should be clearly supported by evidence. For band 4
AQO2, the link between the points, evidence and question must be made and clearly

exp

Indi

lained.

cative content

Changing values, for example the growth of secularisation and changing attitudes
towards marriage; more co-habiting couples

Increased expectations of marriage; Allen and Crow

Better contraception means that couples can live together in a sexual relationship
without the fear of an unwanted pregnancy so need to marry; Allen and Crow
Increase in divorce= more people frightened of marriage

Increase in the cost of weddings

Increase in singlehood and in women having fewer children; Changing roles and
expectations of women; Legislation such as the1975 Equal Pay Act, 1975 Sex
Discrimination Act, 2006 Equality Act, abortion laws, divorce laws, the
contraceptive pill which have changed expectations and given greater economic
independence to women-[no need to marry] Wilkinson

Increase in same sex couples linked to changing culture and changing legislation
SO many co-habit

Any other relevant point
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Band AO1 AO2
elements 1a & 1b element 1a
7-9 marks 6 marks
Answers demonstrate detailed Answers demonstrate a detailed
4 knowledge and understanding of ability to select, apply and interpret
sociological theories/concepts/ appropriate sociological theories/
evidence relating to the context of concepts/evidence in the context of
the debate/question. the debate/question.
5-6 marks 4-5 marks
Answers demonstrate some Answers demonstrate some ability
3 knowledge and understanding of to select, apply and interpret
sociological theories/concepts/ appropriate sociological theories/
evidence relating to the context of concepts/evidence in the context of
the debate/question. the debate/question.
3-4 marks 2-3 marks
Answers demonstrate basic Answers demonstrate a basic ability
2 knowledge and understanding of to select, apply and interpret
sociological theories/concepts/ appropriate sociological theories/
evidence relating to the context of concepts/evidence in the context of
the debate/question. the debate/question.
1-2 marks 1 mark
Answers demonstrate limited Answers demonstrate limited ability
1 knowledge and understanding of to select and/or interpret and/or
sociological theories/concepts/ apply sociological theories/
evidence relating to the context of concepts/evidence in the context of
the debate/question. the debate/question.
0 marks 0 marks
NRSP NRSP
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2, (b) Families are patriarchal institutions, evaluate this view of family life. [35]

Answers will make judgements of the sociological concept, theory controversy or
sociological debate. The answer will focus on the debate in the question. Credit will
be given to the effective use of supporting sociological evidence/theories and
concepts. Where answers demonstrate all abilities to the highest standard then they
will be consistent with Band 4. However, answers demonstrating knowledge but
fewer skills of assessment, judgement and evaluation may achieve Band 4 for AO1
but lower bands for AO2 and AO3.

Indicative content

— The focus should be on evaluating feminist ideas about the family

— The notion that families are exploitative patriarchal institutions should be
examined and assessed. Contemporary research should be used to evaluate
with reference to the increased role of men in family life.

— Research from writers such as Sclater, Duncombe and Marsden, Stanko, Ansley
could be used to defend feminist claims.

— The discussion should examine functionalist and New Right ideas about the
value of the family including reference to the universality of the family and what
that implies in relation to feminist ideas.

— There may be a consideration focused on various family forms and in particular;
same sex families in relation to feminist ideas; Weekes et al

— The role of the family as an agent of primary socialisation discussed from
different perspectives and focused on the debate; is the traditional nuclear family
best

— Marxist ideas about the family and critical thinkers such as Leach, Cooper, Laing
which emphasise the dark side of families linked to the value of feminist ideas
and claims

— Any other relevant point
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Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3
10-12 marks 9-11 marks 10-12 marks

Answers demonstrate
detailed knowledge and
understanding of

4 sociological theories/
concepts/evidence
relating to the context of
the debate/question

Answers demonstrate
detailed, accurate and
relevant selection of
appropriate sociological
theories/concepts/evidenc
e. These are applied and
interpreted in the context
of the debate/question

Answers demonstrate
detailed, well organised
and logical arguments.
Logical judgements and
conclusions will be offered
based on explicit
evaluation of the relevant
theories/concepts/
evidence examined

7-9 marks
Answers demonstrate
some knowledge and
understanding of
3 sociological theories/

concepts/evidence
relating to the context of
the debate/question

6-8 marks
Answers demonstrate
some accurate and
relevant selection of
appropriate sociological
theories/ concepts/
evidence, some of which
are applied and
interpreted in the context
of the debate/question

7-9 marks
Answers demonstrate
some, well organised and
logical arguments.
Judgements and
conclusions offered will
show some evaluation of
the relevant theories/
concepts/evidence
examined

4-6 marks
Answers demonstrate
basic knowledge and
2 understanding of
sociological theories/
concepts/evidence
relating to the context of
the debate/question

3-5 marks
Answers demonstrate a
basic ability to select,
apply and interpret
appropriate sociological
theories/ concepts/
evidence in the context of
the debate/ question

4-6 marks
Answers demonstrate
basic arguments.
Judgements and
conclusions offered will
show basic evaluation of
the theories/concepts/
evidence examined

1-3 marks
Answers demonstrate
limited knowledge and
understanding of
sociological theories/
concepts/evidence
relating to the context of
the debate/question

1-2 marks
Answers demonstrate
limited ability to select
and/or interpret and/or
apply sociological
theories/ concepts/
evidence in the context of
the debate/ question

1-3 marks
Answers demonstrate
limited argument. Any
judgements and
conclusions offered will
show limited evaluation of
any theories/ concepts/
evidence examined

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP
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(c) Discuss the view that extended families are becoming less important in the
contemporary UK. [35]

Answers will make judgements of the sociological concept, theory controversy or
sociological debate. The answer will focus on the debate in the question. Credit will
be given to the effective use of supporting sociological evidence/theories and
concepts. Where answers demonstrate all abilities to the highest standard then they
will be consistent with Band 4. However, answers demonstrating knowledge but
fewer skills of assessment, judgement and evaluation may achieve Band 4 for AO1
but lower bands for AO2 and AO3.

Indicative content

Reference to data from ONS and the Census may be used to examine the variation

of family types in the contemporary UK and what this might show in relation to the

predominance of any particular family type and to our understanding. The focus
should be on discussing whether extended families are or are not less important in
the contemporary UK.

— The discussion will also examine functionalist and New Right ideas about the
value of the family including reference to the universality of the family and what
that implies in relation to “ideal type”

— There is likely to be a consideration of the significance various family forms such
as reconstituted families, cohabitating families, same sex families and the extent
to which they can be considered ‘nuclear’ and “traditional”, and concepts such as
the ideology of the family, death of the family and what this might imply about
family life and whether it is good or bad; the focus should be on traditional v other
types. This should be used to consider the importance of the extended family.

— The increased significance of grandparents; Ross et al; how this is contributing to
new family types

— With increased divorce and re-constituted families more complex extended family
types are emerging

— The notion that extended families are in fact more important today

— The increase in bean pole families used to support this view and the problem of
housing costs making extended families more important as a source of support.

— Any other relevant point.
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Band AO1 AO2 AO3
elements 1a & 1b element 1a element 1a
10-12 marks 9-11 marks 10-12 marks

Answers demonstrate
detailed knowledge and
understanding of

4 sociological theories/
concepts/ evidence
relating to the context of
the debate/question

Answers demonstrate
detailed, accurate and
relevant selection of
appropriate sociological
theories/concepts/evidenc
e. These are applied and
interpreted in the context
of the debate/question

Answers demonstrate
detailed, well organised
and logical arguments.
Logical judgements and
conclusions will be offered
based on explicit
evaluation of the relevant
theories/concepts/
evidence examined

7-9 marks
Answers demonstrate
some knowledge and
understanding of
3 sociological theories/

concepts/evidence
relating to the context of
the debate/question

6-8 marks
Answers demonstrate
some accurate and
relevant selection of
appropriate sociological
theories/ concepts/
evidence, some of which
are applied and

7-9 marks
Answers demonstrate
some, well organised and
logical arguments.
Judgements and
conclusions offered will
show some evaluation of
the relevant theories/

Answers demonstrate
basic knowledge and

2 understanding of
sociological theories/
concepts/evidence
relating to the context of
the debate/question

Answers demonstrate a
basic ability to select,
apply and interpret
appropriate sociological
theories/ concepts/
evidence in the context of
the debate/ question

interpreted in the context | concepts/evidence
of the debate/question
4-6 marks 3-5 marks 4-6 marks

Answers demonstrate
basic arguments.
Judgements and
conclusions offered will
show basic evaluation of
the theories/concepts/
evidence examined

1-3 marks
Answers demonstrate
limited knowledge and
1 understanding of

sociological theories/
concepts/ evidence
relating to the context of
the debate/question

1-3 marks
Answers demonstrate
limited argument. Any
judgements and
conclusions offered will
show limited evaluation of
any theories/ concepts/
evidence examined

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP
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Sticky Note

an excellent answer; 2 or more reasons supported by evidence. Sometimes focus on question drifts and becomes implicit
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Sticky Note

This is a shame; lots of knowledge of theories but very little use of evidence to evaluate them. This reduced the quality of the debate 
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Sticky Note

A sound essay in many ways but ideas and evidence against the view are not sufficiently developed






















Answer Section A, one option from Section B and one option from Section C.

Section B
Choose one from the following options.
Option 1 Families and Households

Compulsory question

2. (a) Explain the reasons for changes in marriage rates in the contemporary UK. [15]
Either,

(b) Families are patriarchal institutions. Evaluate this view of family life. [35]
Or,

(c) Discuss the view that extended families are becoming less important in the contemporary
UK. [35]
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Option 2 Youth Cultures

3. (a) Explain the relationship between gender and youth cultures. [15]
There should be several points supported by evidence. There should be an
explanation of how each point demonstrates the relationship between gender and
youth cultures. For band 4, AO1 points, should be supported by evidence. For band

4 AO2, the link between the points, evidence and question must be made and clearly

explained.

Indicative Content
Old ideas about bedroom culture and the invisibility of females are likely to be

examined McRobbie
Ladettes; Jackson
Girl gangs; Archer

Crisis of masculinity; Connell, Sewell, Mac an Ghaill
Reference to spectacular youth cultures and the predominance of males

— Thornton
AO1 AO2
Band elements 1a & 1b element 1a
7-9 marks 6 marks
Answers demonstrate detailed Answers demonstrate accurate and
knowledge and understanding of relevant selection of appropriate
4 sociological theories/concepts/ sociological theories/concepts/
evidence relating to the context of evidence. These are applied and
the debate/question interpreted in the context of the
debate/question
5-6 marks 4-5 marks
Answers demonstrate some Answers demonstrate some
knowledge and understanding of accurate and relevant selection of
3 sociological theories/concepts/ appropriate sociological theories/
evidence relating to the context of concepts/evidence, some of which
the debate/question are applied and interpreted in the
context of the debate/question
3-4 marks 2-3 marks
Answers demonstrate basic Answers demonstrate a basic ability
2 knowledge and understanding of to select, apply and interpret
sociological theories/ concepts/ appropriate sociological theories/
evidence relating to the context of concepts/evidence in the context of
the debate/question the debate/question
1-2 marks 1 marks
Answers demonstrate limited Answers demonstrate limited ability
1 knowledge and understanding of to select and/or interpret and/or
sociological theories/concepts/ apply sociological theories/
evidence relating to the context of concepts/evidence in the context of
the debate/question the debate/question
0 marks 0 marks
NRSP NRSP

© WJEC CBAC Ltd.
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(b) Evaluate the view that changes in the economy have affected youth cultures
in society. [35]

Answers will make judgements of the sociological concept, theory controversy or
sociological debate. The answer will focus on the debate in the question. Credit will
be given to the effective use of supporting sociological evidence/theories and
concepts. Where answers demonstrate all abilities to the highest standard then they
will be consistent with Band 4. However, answers demonstrating knowledge but
fewer skills of assessment, judgement and evaluation may achieve Band 4 for AO1
but lower bands for AO2 and AO3.

Indicative content

There should be clear evaluation of the sociological explanations of changes to youth

cultures with particular focus on the impact of economic change v other factors

— Feminist, youth cultures and economic independence allowing girls freedom to
explore their identity away from boys in a patriarchal society (McRobbie and
Garber.) more contemporary examples such as girl gangs or female sub-cultures
based on style

— Postmodernist, youth cultures and neo-tribes present an opportunity for youth to
create their own styles and identities

— Reference to the changing nature of youth culture and an examination of how
social change may have had an impact on the role of youth cultures such as the
growth of the media; globalisation, the changing role of women.

— Post 1950s economy was booming with young people easy targets for
advertisers; more disposable income= more spending and new styles

— Influence of American youth culture; growth of music and media access to this

— Jefferson; Teddy boys...disposable income= Edwardian style suits and new
youth culture

— Brake; hippy culture rejecting consumerism

—  Frith; punks

— Lincoln; internet culture.

12
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Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3
10-12 marks 9-11 marks 10-12 marks
Answers demonstrate Answers demonstrate Answers demonstrate
detailed knowledge and detailed, accurate and detailed, well organised
understanding of relevant selection of and logical arguments.
sociological theories/ appropriate sociological Logical judgements and

4 concepts/evidence theories/concepts/ conclusions will be
relating to the context of | evidence. These are offered based on explicit
the debate/question applied and interpreted in | evaluation of the relevant

the context of the theories/concepts/
debate/question evidence examined
7-9 marks 6-8 marks 7-9 marks
Answers demonstrate Answers demonstrate Answers demonstrate
some knowledge and some accurate and some, well organised
understanding of relevant selection of and logical arguments.

3 sociological theories/ appropriate sociological Judgements and
concepts/evidence theories/concepts/ conclusions offered will
relating to the context of | evidence, some of which | show some evaluation of
the debate/question are applied and the relevant theories/

interpreted in the context | concepts/evidence
of the debate/question examined
4-6 marks 3-5 marks 4-6 marks
Answers demonstrate Answers demonstrate a Answers demonstrate
basic knowledge and basic ability to select, basic arguments.

2 understanding of apply and interpret Judgements and
sociological theories/ appropriate sociological conclusions offered will
concepts/evidence theories/concepts/ show basic evaluation of
relating to the context of | evidence in the context the theories/concepts/
the debate/question of the debate/question evidence examined

1-3 marks 1-2 marks 1-3 marks
Answers demonstrate Answers demonstrate Answers demonstrate
limited knowledge and limited ability to select limited argument. Any
understanding of and/or interpret and/or judgements and

1 sociological theories/ apply sociological conclusions offered will

concepts/evidence
relating to the context of
the debate/question

theories/concepts/
evidence in the context
of the debate/ question

show limited evaluation
of any
theories/concepts/eviden
ce examined

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP

© WJEC CBAC Ltd.
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(c) Discuss the view that youth cultures are often associated with deviant
behaviour. [35]

Answers will make judgements of the sociological concept, theory controversy or
sociological debate. The answer will focus on the debate in the question. Credit will
be given to the effective use of supporting sociological evidence/theories and
concepts. Where answers demonstrate all abilities to the highest standard then they
will be consistent with Band 4. However, answers demonstrating knowledge but
fewer skills of assessment, judgement and evaluation may achieve Band 4 for AO1
but lower bands for AO2 and AQO3.

Discussion of the view is the key task.

Indicative content

There should be clear discussion of how youth has often been associated with

deviance; especially with spectacular youth sub-cultures.

— Patterns of crime and deviance ; PRC, Home Office, BCS

— Cohen, Mods and Rockers; moral panics

— Disaffected youth; Cohen, Hebdidge, ethnocentrism

— Becker; the impact of labelling on perceptions of youth and on the relationship
between youth and deviance

— Self- fulfilling prophecy

— McVie; challenges the apparent prevalence of young offenders in statistics

— The relationship based on resistant youth sub-cultures and counter
cultures;Jefferson

— Patrick; Glasgow gang, anti-school sub-cultures Willis, Mac an Ghaill

— The rise of girl gangs and ladettes; Archer, Wilson, rave culture McRobbie and
Thornton

— Change; consumerism, Bennett

— Post- modernist ideas

14
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Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3
10-12 marks 9-11 marks 10-12 marks

Answers demonstrate
detailed knowledge and
understanding of

4 sociological theories/
concepts/evidence
relating to the context of
the debate/ question

Answers demonstrate
detailed, accurate and
relevant selection of
appropriate sociological
theories/concepts/
evidence. These are
applied and interpreted in
the context of the debate/
question

Answers demonstrate
detailed, well organised
and logical arguments.
Logical judgements and
conclusions will be offered
based on explicit
evaluation of the relevant
theories/concepts/
evidence examined

7-9 marks
Answers demonstrate
some knowledge and
understanding of
3 sociological theories/

concepts/evidence
relating to the context of
the debate/ question

6-8 marks
Answers demonstrate
some accurate and
relevant selection of
appropriate sociological
theories/concepts/
evidence, some of which
are applied and

7-9 marks
Answers demonstrate
some, well organised and
logical arguments.
Judgements and
conclusions offered will
show some evaluation of
the relevant

Answers demonstrate
basic knowledge and

2 understanding of
sociological theories/
concepts/evidence
relating to the context of
the debate/ question

Answers demonstrate a
basic ability to select,
apply and interpret
appropriate sociological
theories/concepts/evidenc
e in the context of the
debate/ question

interpreted in the context | theories/concepts/
of the debate/ question evidence examined
4-6 marks 3-5 marks 4-6 marks

Answers demonstrate
basic arguments.
Judgements and
conclusions offered will
show basic evaluation of
the theories/concepts/
evidence examined

1-3 marks
Answers demonstrate
limited knowledge and
understanding of
sociological theories/
concepts/evidence
relating to the context of
the debate/ question

1-2 marks
Answers demonstrate
limited ability to select
and/or interpret and/ or
apply sociological
theories/concepts/evidenc
e in the context of the
debate/ question

1-3 marks
Answers demonstrate
limited argument. Any
judgements and
conclusions offered will
show limited evaluation of
any theories/concepts/
evidence examined

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP

© WJEC CBAC Ltd.
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Sticky Note

some knowledge and understanding not detailed. Quite a lot of anecdotal material and perhaps a misunderstanding of the task 








Sticky Note

descriptive tone













Sticky Note

There is no real debate. Ideas presented are not discussing whether but arguing that youth cultures are deviant




























Sticky Note

Largely confused and often inaccurate. Tentative grasp of basic ideas which are not explored in an evaluative way; basic













Sticky Note

There is basic lack of understanding vague expectations of the relationship between gender and youth cultures. 






















Answer Section A, one option from Section B and one option from Section C.

Section B

Choose one from the following options.

Option 2 Youth Cultures

Compulsory question

3. (a) Explain the relationship between gender and youth cultures. [15]
Either,

(b) Evaluate the view that changes in the economy have affected youth cultures in society.
[35]

(c) Discuss the view that youth cultures are often associated with deviant behaviour.  [35]
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Section C

Option 1 Education

4,

(a) Using sociological evidence and examples, explain how schools prepare
young people work. [15]

There should be several points supported by evidence. There should be an
explanation of each point in relation to the focus of the question. For band 3 AO1,
points should have supporting evidence for at least two points made. For Band 4, a
clear explanation of each point should be made. For each point, supporting evidence
should be present. There should be a clear focus on the question in the points
explained.

Indicative content
Though discussion is not required here there may well be conflicting ideas presented
which should be credited as knowledge and understanding of the issue.

e Functionalist ideas about role allocation; Davis and Moore. The notion that
schools sort talent and are microcosms of society.

e Marxist ideas such as Bowles and Gintis who argue that schools get working
class children ready for working class jobs. Obedience is rewarded

e Social reproduction and correspondence principle

¢ Any other relevant point

16
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Band AO1 AO2
elements 1a &1b element 1a
7-9 marks 6 marks
Answers demonstrate detailed Answers demonstrate a detailed
4 knowledge and understanding of ability to select, apply and interpret
sociological theories/concepts/ appropriate sociological theories/
evidence relating to the context of concepts/evidence in the context of
the debate/question the debate/question
5-6 marks 4-5 marks
Answers demonstrate some Answers demonstrate some ability
3 knowledge and understanding of to select, apply and interpret
sociological theories/concepts/ appropriate sociological theories/
evidence relating to the context of concepts/evidence in the context of
the debate/question the debate/question
3-4 marks 2-3 marks
Answers demonstrate basic Answers demonstrate a basic ability
2 knowledge and understanding of to select, apply and interpret
sociological theories/ concepts/ appropriate sociological theories/
evidence relating to the context of concepts/ evidence in the context of
the debate/question the debate/question
1-2 marks 1 mark
Answers demonstrate limited Answers demonstrate limited ability
1 knowledge and understanding of to select and/or interpret and/ or
sociological theories/concepts/ apply sociological
evidence relating to the context of theories/concepts/ evidence in the
the debate/question context of the debate/question
0 marks 0 marks
NRSP NRSP

© WJEC CBAC Ltd.
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(b) Evaluate the view that education offers all children equal opportunities to
succeed. [35]

Answers will make judgements of the sociological concept, theory controversy or
sociological debate. The answer will focus on the debate in the question. Credit will
be given to the effective use of supporting sociological evidence/theories and
concepts. Where answers demonstrate all abilities to the highest standard then they
will be consistent with Band 4. However, answers demonstrating knowledge but
fewer skills of assessment, judgement and evaluation may achieve Band 4 for AO1
but lower bands for AO2 and AO3.

Indicative content

— The notion of meritocracy and the work of Davis and Moore; schools are “sorting
houses for talent” with evidence to support such as Hernstein and Murray

— The idea that outside factors are compounded by inside factors for children from
lower social class backgrounds used to evaluate functionalist views relating to
meritocracy

— The impact of material deprivation on equality of opportunity; Smith and Noble,
Halsey Heath and Ridge

— Callendar and Jackson: how material factors influence choices about higher
education; the fear of debt

—  Youth Cohort Studies that demonstrate the relationship between poverty and low
attainment

— Lack of choice of schools, no funds for private tutors and extras

— Marxist ideas about processes inside schools and schools as M/C institutions;
Althusser, Bourdieu, Sullivan, Reay, Bowles and Gintis.

— The impact of gender and ethnicity used to argue against the notion of
meritocracy

— Wider factors linked to class, ethnicity and gender may form part of the
discussion

— Any other relevant point.
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Band AO1 AO2 AO3
elements 1a &1b element 1a strands 1-3
10-12 marks 9-11 marks 10-12 marks
Answers demonstrate Answers demonstrate Answers demonstrate
detailed knowledge and detailed, accurate and detailed, well organised
understanding of relevant selection of and logical arguments.
4 sociological theories/ appropriate sociological Logical judgements and

concepts/evidence
relating to the context of
the debate/ question

theories/concepts/
evidence. These are
applied and interpreted in
the context of the
debate/question

conclusions will be
offered based on explicit
evaluation of the relevant
theories/ concepts/
evidence examined.

7-9 marks
Answers demonstrate
some knowledge and
understanding of
3 sociological theories/

concepts/evidence
relating to the context of
the debate/ question

6-8 marks
Answers demonstrate
some accurate and
relevant selection of
appropriate sociological
theories/ concepts/
evidence, some of which
are applied and

7-9 marks
Answers demonstrate
some, well organised and
logical arguments.
Judgements and
conclusions offered will
show some evaluation of
the relevant theories/

Answers demonstrate
basic knowledge and

2 understanding of
sociological theories/
concepts/evidence
relating to the context of
the debate/ question

Answers demonstrate a
basic ability to select,
apply and interpret
appropriate sociological
theories/ concepts/
evidence in the context of
the debate/ question

interpreted in the context | concepts/evidence
of the debate/question examined
4-6 marks 3-5 marks 4-6 marks

Answers demonstrate
basic arguments.
Judgements and
conclusions offered will
show basic evaluation of
the theories/concepts/
evidence examined

1-3 marks
Answers demonstrate
limited knowledge and
1 understanding of

sociological theories/
concepts/evidence
relating to the context of
the debate/ question

1-2 marks
Answers demonstrate
limited ability to select
and/or interpret and/ or
apply sociological
theories/ concepts/
evidence in the context of
the debate/ question

1-3 marks
Answers demonstrate
limited argument. Any
judgements and
conclusions offered will
show limited evaluation of
any theories/concepts/
evidence examined

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP

© WJEC CBAC Ltd.
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(c) Assess the impact of cultural factors on attainment in education. [35]

Answers will make judgements of the sociological concept, theory controversy or
sociological debate. The answer will focus on the debate in the question. Credit will
be given to the effective use of supporting sociological evidence/theories and
concepts. Where answers demonstrate all abilities to the highest standard then they
will be consistent with Band 4. However, answers demonstrating knowledge but
fewer skills of assessment, judgement and evaluation may achieve Band 4 for AO1
but lower bands for AO2 and AO3.

Indicative content; answers should examine both cultural deprivation theory and

cultural capital. These theories should not be described and juxtaposed they should

each be evaluated in the context of their impact on attainment.

— Functionalist and New Right ideas such as:

— Cultural deprivation theory: Douglas, Sugarman Hyman, Feinstein

— Blackstone and Mortimer used to challenge

— Bernstein, Gaine & George

— Cultural capital:Bourdieu

— Sullivan

— Reayetal

- Ball

— Alternative factors that impact used to weigh up the impact of cultural factors
such as;

— Material factors

— Labelling

— Innate intelligence

— Any other relevant point.
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Band AO1 AO2 AO3
elements 1a & 1b element 1a strands 1-3
10-12 marks 9-11 marks 10-12 marks
Answers demonstrate | Answers demonstrate Answers demonstrate
detailed knowledge detailed, accurate and detailed, well organised
and understanding of relevant selection of and logical arguments.

4 sociological theories/ appropriate sociological Logical judgements and
concepts/evidence theories/concepts/ conclusions will be offered
relating to the context evidence. These are based on explicit
of debate/question applied and interpreted in evaluation of the relevant

the context of the debate/ theories/ concepts/
question evidence examined
7-9 marks 6-8 marks 7-9 marks
Answers demonstrate | Answers demonstrate some | Answers demonstrate
some knowledge and accurate and relevant some, well organised and
understanding of selection of appropriate logical arguments.

3 sociological theories/ sociological theories/ Judgements and
concepts/evidence concepts/evidence, some of | conclusions offered will
relating to the context which are applied and show some evaluation of
of debate/question interpreted in the context of | the relevant theories/

the debate/question concepts/evidence
examined
4-6 marks 3-5 marks 4-6 marks
Answers demonstrate | Answers demonstrate a Answers demonstrate
basic knowledge and basic ability to select, apply | basic arguments.

2 understanding of and interpret appropriate Judgements and
sociological theories/ sociological theories/ conclusions offered will
concepts/evidence concepts/evidence in the show basic evaluation of
relating to the context context of the debate/ the theories/concepts/
of debate/question question evidence examined

1-3 marks 1-2 marks 1-3 marks
Answers demonstrate | Answers demonstrate Answers demonstrate
limited knowledge and | limited ability to select limited argument. Any

1 understanding of and/or interpret and/ or judgements and

sociological theories/
concepts/evidence
relating to the context
of debate/question

apply sociological theories/
concepts/evidence in the
context of the debate/
question

conclusions offered will
show limited evaluation of
any theories/concepts/
evidence examined

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP

© WJEC CBAC Ltd.
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Sticky Note

knowledge of key ideas and writers takes the AO1 mark into detailed but the answer fails to do the same with the application of this knowledge to the task. Alternative ideas or criticisms wre not fully explored meaning that the impact of cultural factors wasn’t really assessed.











